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SECTION-I
W1 fomm v e R
PITYSICS AND CHEMISTRY

Oy 3 gue FETT 37 -+ 400

vax. '\]E”LQ 400

L. sk Al Hemsd & gl ore 510

(7’\_ qrrloazw%ﬁw At 10 i g
90 &, | T MO W oafim whe Ea)
A 18 T F i a2 At g
=T HTT e Shet o g § S
SRS ] 01 &
(A) 1.804&8 (B
(C)  1.800 afy

£ r"‘;.-:)

-,

([ WH“‘TT?T# A

DA TS Jugeny i T 39w o
TECAR T () 9.8 W2 E

(A) 0.497 . ()  0.5971h,
() 0,9@}?#1./ (D) 0.994 17,

.

>’9<f fecs I FEET FU HT qF 125 e

£ e ST aIE AT 3 T w5 2 %
S AT 8, Al o BT 3G 97 &
(AW 25019 (B) SOfig
9/@ (D) THERETE

25 9T
(fediar) & e 92 Tea e W 243 ¥
<l W19 o 3R 2 | e Shel & | Al )
20 U Yl 9 gier T 2 | IUR H
AAYIh (o2 30 8

1,7 UF ITHW & aiE wha o

Mmoz@ﬂ ©(B) 0.05 udt (
(Cy 0.001 a:rm (D) 0.02 94t -

Time:

s

ok /7))

|

@
e L

A Hours

' Ipers reoare [0
In o Vernier callipers. there arc
(he Vernier-Scale  and

divisions  on . o
de is divided 10

I emoon the main sc

: 1 1
- parts. While measoring 4 length the

zero of the aumu lics just ahead of

1.S cm mark and 47 division of vernier

coincides with a main seale division,

I The value of Tength s

(A) 1.804 ¢m (B) 1.840 ¢m

(Cy 1.800 cm (D) Nong ﬂf‘thcﬁf_
The length of sccond’s pendulum at a
place

(11} 15 9.8 mis-.

(A) 0497 m (B)
(Cy 0.997 m (D)

where eravitational acceleration

(1,597 m

0,994 m -

A body tises vertically up to a height of 125 1m
and comes back at the pomt of projection in
5 8. The average speed of body was

(&) 23 mis {(B) 30 mis

(C) Zero {ID) None ot these

In an instrument, there are 23 divisions on
the Vermier-scale which coincide with 24™
division of the main scale, | em on main
seale s divided in 20 cqual parts. The
[east count of the instrument is

(AT 0.002 ¢m (B) 0.05cm

(C)y 0.001 em (DY 0.02 ¢m
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& Qe 71fd < feru 5. Foruniform motion :
(A foemy-gma ar § qee- 31 % (A) the distance-time  graph  is 4
AR Ueh gt @ straight line parallel to time axis.
?/§ O (B) S -YHE T T - 31 " ekl (B) the speed-time graph is a straight
?__5; Uch fieft T fine melined to time axas. '
g & _ . a a #
L (C) FIE-T0g UE B §HA-3 % (C) the speed-time graph 1s a straight
YT Ueh Tief] Tar line parallel to time axis.
(D) wRU-§Hd 6§ -3 % (D) the acceleration-time graph 1s a
YU Teh Hieft &t straight line parallel to time axis.
6. U TemrEl yem 30 fy. 30 fedieer o A train first travels for 30 min with a
3 8 veloeity 30 knvh and then for 40 mim

& Ay e 40 . Tes 40 feedfveer o , Kaal did [aell

o " : & 4 - with a velocity ot -0 kmh in the same
T T Eﬁ femm ¥ g | 1 201 - direction. The average velocity of train
algq a2 | o

(A) 35.71 fediae A3,
(B) 35.0 Terdfl g
() 35.81 ferdiraer
(D) 35.95 fediaa

I T3 faeemgs wa w9 U <hi WW?/WI 7. Find out the correct statement with the
- . Ay ) help of given time-displacement graph :
4 G2l HYA BT I hINA : v/

T CAR A
A 2
f o 5 CARB
_—~TRB =
? A :
/] R
L [ Time —
T —> (A) after time t,, Car A & Car B move
(A) HF A T &R B ¥99 t, % WIg with cqual velocity.
- £ (B) The velocity of Car A 1s mare
_ T T @;ﬁ we ' than Car B. |
(B) A @I LTHRB o arfues 8 | (C) The velocity of Car B 1s more than
- FT AT HRA G AUH R | Car A.° |
£ HRE . 2 (D) The Car A & Car B are moving
(D) HRATIHR B HI EUEERECHY with same velocity.
= B % o1 g / Space For Rough Work
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8 Wa@ﬁmw 21?5{“%1:1'( 10 N <1 8. A force of 10 N acts on d bady of nl;}l“
¥eT 3 . me%lﬂﬂmaﬂ 2 kg for 3 s initially ’1II rest. The
ATH velocigracquired by the body
wil, afe s R 2 7 i ! (3) 20 m's
(A) 15 mis (B) 20mis - 3) 30 mfs
(€25 mis (D) 30 m/s () 25 mis i
9. uw=% 95 THEEE = ® Y s %U Sody  moving with uniiﬂm;
6 9. 1 84 7R, Tq 11 /. F 264 1. G ceeleration tlmt,la &4 m in 6 s and
& Eﬁﬁmﬂﬁ% 264 m in 11 & The initial velocity of
e the body is
VO0MA - m) Lo (Ap20ms  (B) LomSs
) 2.1WA. (D) 3.0 (C) 2.1 mis (D) 3.0 ms
0. 3 feredia oo e % @Tff?mﬂ 10, Two cqual and apposite forces act on 4
R M 91§ <l T o mfa GQTH‘F‘HH‘W object. Its motion will be
(A) Wﬁﬁ@@ﬁ‘@mﬁhﬁ | (A} aftected and slow-down
(B) ST Bl O B sl | (B) affected and speed-up
(C) H‘Tﬁ%ﬁiﬁ?ﬁ{%mﬁrﬂ [ (C) attected and stop
(D) i @it | (D) unaffected motion
1. &98 fes wrear (Srgea <6t W) 2 e property of Inertia is most in
(A) WW'& (B) ,E’:Jﬁ‘i | (A} acar (B) atruck
(C) i (D) ChaEead (C) arickshaw (D) acycle
12. U e §a1 &1 5l zﬁﬁzﬁ [ | [2. 1.0 Newton force is ¢quivalent to in a
(A 1.0 feem=fim2 C.£.5. system
(A) 1.0 kg—mi/s?
B) 1.08rs4 =
) % (B) 1.0 Dyne
SET 107 s (C) 10° Dyne
(D) 1.0 Im-gdia’ (D) 1.0 g~cm/s2
[ Ha T O %0< Q?LLB» The unit of lincar momentum i
(A) N.s (B)  kg-m/s* (A) N.s (B) kg-my/s2
(C) Nis (D)  ky-m/s | {0} Mg (D) kg-m/s
& T % [T 98 / Space For Rma;glﬁ%’urk -
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4. U o5 bl el @ Togmn W St S 4.

? Tsrmrent zemm et v 10 fopm 2 | 9
PRAT W ¢ HTHA 9.8 HA 3R T W
1.6 19 &1, Al o] 1 950 W EsHH

BT

10 .
[ (B) 98N
(C) 16N (D) 10 Tepm

5. fA A i asmeaea & IS

%@?ﬁi‘ﬂ‘éﬁ M % | Iie &Ae FT 4R
15 NR, A & (3H) g sie W
ATeT] Je 2

LLLLLILIIILS

«— frgm (3r)

==

(A) 15 N AR 3R s w
(B) 15 N SUCH] 2T 479 & &9 B
() T

(D) 39 &5 el

16. afe gedft =1 Z=90M 6 x 10™ ToRI1 914,
(><\ﬁ?m 6.4 100 7, Wq?ﬁ??ﬁlwﬁﬁ

2000 feHl ST e g T ST 74 gl
(A) 5.0TH@"? (B) 5.5 Him-
(C) 5.7 (D) 5.9 g

16,

A body of mass 10 ke on carth is taken
from carth to moon. [ the value of @ on

. . e .
carth 1s 98 m'ss and on moon 15

W S s H
1 .6 mis=. The mass of the body at moon
B

| (]

(A) 7 ke (3) 98 N

(C) 16N (D) 10 kg

In Tre., a block of weight 13 N s
hanging trom a rigid support by a
string, What force i1s excrted by the
string on the block 7

LLLLLLLY

<«— String

%i— 3ock

(A) 15 N downwards (as weight)

[‘g__%,],fl.ﬁ"N upwards (as lension)
PN

(C} Zero

(D) None of these

Taking the mass of carth equal to
6> 107 kg and radivs of earth equal to
6.4 > 10" m, caleulate the value of
gravitational acceleration at a height of
2000 km above the carth surtace.

(A) 5.0m/s®  « (B) 5.5 ms?

(C) 5.7 mise (D) 5.9 m's”
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17. TS e S 5 g7 g 8

(A) | Hz
(B) 1000 Hz
(C) 200 kH~
(D) 5 MHz

18, U 32 forgent ammr 20 96 < 10 Tt -
5 Gt 8 W1 W 4 kof 8 | 98 irsaw
T GA8 W SN o« g@eh! uad W

@ S

(A) oI 91t aEs (20 gHf) IFeaher
erCigcio

(B) B arel! wigg (5 adl) FHral
recigkcIo M

(C) g gret 915s (10 9f) ST
tecigeicl

(D) T4 B &I 7

19. waq & g (gFae) dear & < IR
STt 8

(A) Frg@ weas grT el T 98 el
ST FA & |

(B) CER e[ o w1 8
(C) dam e § gEg (%) o |
(D) %8 9 Fig T8I

can  hear the

17. A man

frequency.

(A) | H @
~m 10001

(C) 200 KHz

(D) 5 MHz

e 4 kgt having
18, A brick of weight 4 ket having
« 10 ¢cm X 3 em

dimensions 20 ¢ni A

exerts maximuin pressure on surface

when it is placed on ground with 1ts

(&?/f/{ﬁ:ust side (20 em) vertical {
w j ) -

(B) shortest side (5 cm) vertical
(C) medium side (10 cm) vertical

(ID) None of these

19. The foundation of buildings are made
wider than the wall

(AXso that the pressure exerted by the
ilding on the ground becomes

sy less.

(B) so that constructing the wall is
easy.

(C) so that the walls look beautiful.
(D) None of these -

¥
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20, e arEAlaeh TF AR @ Wt ufafaeg &
Ty femar S gehar 8
(A) Ide 24U Y
(B) GHd <41 §
(C) 3¥aae gdur g
(D) I9A Ud gHaA cqul §

21, 1 il geerdt <@ o7 urEme (Pascal) |
T & (AR 1 9
13.6 % 10} kgm’ @& g = 9.8 /&)
(A) 133.28 Pa (B) 133.8a
(] 352 P {[_)’,]//132.93 Pa

22. ETEENR &1 wEm @ gerf § e @
19 1 g1 2
(A) oI (B)  3gaH
(C) 3R TE (D) <™

-
2
3
3

23, BRAERE gubfiel § O W A
FIUAT &
(A) 100 °F (B) 98.7°F
(C) 212.°F (D) 220°F

24, THA ¢Uul § &1 Ylafers B 8
e 37 BieT
(B) Hiur 37T @
(C) 3¢ IR Y AT &l
(D) dIHT 37T I 37ThIL T

25, < grdd giu Sl foh TER 60° HT B
S 50 W@ W § % wey Wi g fedt
&g % 9 91l fafera 61 g gt

-

(A) 3 | (B) 5
(C) 6O (D) HA

o
I

b
L

24.

T2
I‘Jl

A real and enlarged image can be
abtained by using

(A) convex mirror
\_LQ plane mirror /
e coneave mirror
P

(D) convex and plane mirror

Convert | mm Hg pressure in Pascal.

1 B ' 3 > h .1 i
(Density of He = 13.60 < 107 kg/m” &
g =98 mist)

(A) 133.28 Pa (B) 133.8 Pa
(€)Y 133.12 Pa (D) 132.98 Pa

A hydrometer is used to measure the
following quantity of liquid

(A) Density

}B-}#"ﬁﬁﬂ ume 1

(C) Relative density

(D) Pressure

On Fahrenheit scate, the boiling point
of water is

(A) 100 °F (B) 98.7°F .

(C) 212°F (D) 220°F j
The Image formed by a plane mirror 1s
(A} Erect and diminished
(B) Ercct and enlarged
(C) Inverted and of same size
(D) Erect and of sume size
Two plane mirrors are placed making
an angle of 60° in between them. For

an  object placed in between  the
mirrors, the number of mmages formed

will be
: @ys

(A 3
(C) 6 (D) Intfinite

= s & HY % TTCSME / Space For Rough Work
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e e e L b B TR

JO SIEEEANERINIGEIEA R R
O~ Ay P Br

(B) FBr-Cl:=|
(C) Cl=Br=l=F
(D) F=C/>]>Br

7k A S.T.P, W R 3R 36T O garet
gl TAT AT AW FglaRt 546 °K W
AT 4 e g

(A) I THHE @ |

(B)  3T¥TA 3778 81 SR |

(C) 3TEaa g 1 81 SR |

(D) 378 9 &% T8

28, BIIFRA foctad o w1 1 TR BT 2
(A) =10 7m |
(B) 10 "W"mudlo’mE s
(C)y < 10-"Mm
(D) 394 H 618 781

29, 12 79 HJH Uil Fnase faeaa o
B 20 °C AUHE W g w1 el 3o
I B Ao T W 3 TTH 31 e TH
2T 2 | Tl =iz & oo 8

(A) 33.3°0m  (B) 25UM
C) 30UH (D) 28 7TMH
. Tmnosh g georRiits ged adi & ¢
;. (A) CuO (B) CaO
2 ) RS0, (D) PbO

Uqfifem w@ige, g o arfifear &
g Ieafsid oidl &

(A) it (B) T

(C) ufefeaa (D) SHYRIEE

it L i”“ﬁ_’\(_‘nﬁ sy
1 c ol reactivity of halog AIRe
26. Thet LLiL

cxyTF 20 B 1
rf.a} 1 - Br - (If 1
oy OF © B3r - : |
(13 E ¥ e 2k
‘ o], 15 Pressure iy
Sl . {H;{‘!I,I'JIL um] tCm]‘rUI‘ﬂturc to

increased 1o ¢ AR ‘
546 °K. The coiume of the gas will he
(XY anchanged

(B) reduce 1o hali

(C) doubled

(D) None of these

28, The particle U of colloidal solution iy
K) l['}""_m
{E;} Between H’i"“ m and 10 "'m
(C)y <1071

{D} None nf th{:sc

20. 12 ¢ of saturated solution of potassium
thmtd At 20 °C. when evaporated to
dryness, leaves 4 sohid residue of 3¢
The solubility of potassium chloride 1s

v

(A) 333 ¢ (B) 25 ¢
~(C) 30¢g (D) 28 ¢

30.  Which is not a hygroscopic substance
arm"nn” the tollowing ?

¥ Lo (B) CaO
/;/rl/ %o/ (D) PhO
31, The gas released  after’ reaction of

aluminium carbide with water is
(A) acetylene / (B) marsh gas

(C) cthylcnj}g‘(f (D) None of these

!
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‘,'l . (] LY 0

WQ? 9Tq 1 Y] 51 aneq o ufiafia gar 2

(A) I8 T T ¢ 3R
HTFRATOT BheT 2 | e

(B) U8 sAdiH whemn o & s

SR BT 12

(C) ¥® TR e &x@ ¢ i
HTr{TehTor gl & |

(D) % Toaeid o a1 & 31 3=
BT R |

\i/mmﬁm s & B S T
Tt B

Mmgm (B) WM

©

(C) = (D) HiHH
qay nfvrared] €y 2

(A) Is— s (B) 25«25
(C) 2s-=-2p (D) 2p-2p

CIE S U e M Mo iro i e e
aafiferan A T Feperd 3

(A) H, T (B)
(C) Ch,7 (D) CO, 7 -

=fei 9 g &
(A) MR+, T |
(B) 3T 0, TI9H |
(C)  3MEY 0, ge9H 0
(D) 389 — 1, ZEIHH |

- Group-A

320 When a metal atom becomes an ion ¢
(A) it loses electrons and 1s

oxidised

(B3) 1t gains electrons and is

reducedd

(C) it gains electrons and is

ax1ised

/;I
]‘.f-(D} it loses clectrons and 1s

~

' reduced

33, Chemical reactions involve participation
% '
i CH

(B) Protons
(D) Mesons

(AT Electrons

() Neutrons

34, Strongest bond is
S i o (3] 2s=Zs
il

/E%l—ﬂ ~2p ()

}, Bleaching powder on reacting with dil,

2p-2p

sulphuric acid refeases

Lg}}/}'-{z as (B3) O, gas

(C) (g,_rgus (D) CO, gas

e TeTe S978 / Space For Rough Work

36, Nutrino has
(A) Charge +1, Mass |
_ABF Charge 0, Mass |
(C) Charge 0, Mass 0
(D) Charge -1, Mass 1
B
gcollegedumas
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HAUTE g1l 2
(A) 8 (B) 1:%
SO (D) 122

3TIETTF S R 7
(A) CO, (B)

H,S
() SO,

(log,,2 = 0.3010)
(A) 7.699 (B) 7.578
(C) 7.219 (D) 7.188

%ﬁjﬁ%@ﬁﬁﬁﬂﬁ@ﬁq@wﬁ

g

(A} T (B) e
(Cy e (D) Ach
AT A o1t 931 5 96 e 2
(A) Na,CO, (B) HC/
(C) NaC/ (D) CaCl,

d%w\wé:wﬁmé@mqﬁaﬁw
W(Wﬁmaﬁ% |

IRGISE (B) <A1
f (‘} AT (D) W
5w s
(A) aTHTEe (B) Hclepree

(C) SHIeTse (D) UIEe

k 8 8 PR
PaLs

4 39, W foer’a 0 H- atreEi ) geg 0w 08
2 oo uld forew & | e @ pH 2 -

37 The volumetric ratio ol hydrogen ang
OXyEen 1N e s
N BT
(A) &l 4B 4
() 201 (D) ] 5

38. The gas which acts both us oxidizing as
well as reducing agent B
(A} CO, (B3) H (3
“S'f}_ (D) None of these

39, The concentration of Hojons moa
mole per litre. The
pH ot so lution is — (log,, 2= (.30 0) |
M’ﬁ 699 (B) 7.578

(C) 7.219 (I)} 7188

- - N
solution 1s 2 x 10

40. The colour of  Phenolphtheline
Indicator in basic (alkaline) solution 1y
(A) Red (B) Yellow
(g;p-m‘uc (D) Orange

41. The substance used in Fire-extinguisher
1S
(APNTTCO, (B HC/
Mz | (D) CaCY,
The Bessemer converter used  for
smelting of copper contaigygfening of

< AA) Silica (BYd Bne
(Cy Iron (D) Copper
i%‘““”ThL u‘nppu ore 18
A) Bauxite

( } Camelite

(D) ECCduritﬂ

& T o 11T S8 / Space For Rough Work
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%" (eehlEeT <5 ﬁﬁrﬁ*-f%*rﬁ?r(‘]] o D T 4. On dehvdroagenation of aleohol we gel

GRS the compaund
(A) 314 (B) TR {.;‘f}l”’.\l_.ttll (13) }L‘IL,I
() Aldehyvde (D) Aming

(C) ufezrge (D) Tt

/y ngjm?ﬂﬂqﬁﬂﬁ% 45, The boilimg point of o Liquid nerease
- . I T S
, (A) W}Fl@#ﬂmww when there 1s

5 -\ (A) decrease i atmospheric pressure
(13) 2l ¢ld dad : . : .
| HP e W B) increase in atmaospheric pressure

(C) LT =1 Ze9mTH g W (C) increase in mass ol hiquid
_T_@{[}] W?—Tfﬁ_gqﬁ (1) None of these :

o U = o B ey s o . - )
TY] ShHTeR |7 Tl d 1 3Trerd Wil 46.  The place of element of atomic numbe
™2 17 m periodie table 1s

Ay Vil amad, Vil e J\i” "_1::'[ ]w_;'m{l, ‘rx-"'fl aroun
B Iy ; (3) [ pertod, VI group
(B) I E:TI?{?i, VI Em ) fi“’f}i IV pertod. VI group
(C) IV 3mad, VIIdan (D) 1 period, VI group

(D) 11 &, VI a

47. fotafaa o andg U@H : 47, The basic metal among the following is
(ﬂ” NH ”g] RBe ‘ K;\\:H [B} B
-- (C) Af (D) Zn ﬁé‘%jw (D) Zn
/@)/4{{@ Te<h I T 2 48 Alkene. among the following is
y @ Ifﬁ) .C.]”H] “'i} C.!”{, {f&,:' {~1_1[']!{| ; {Hj {:‘-‘-;I-['I!
(C) C4H, (D) C.H,; ;(Z)XJHE (D) C3H;5
s - :
4p. Hﬁ“\%ﬁrﬁ& BT IUPAC 719 3 49, The ILPAC name of Formaldehyde is
(A) GiHfeeaRes (B) HUTW (A) Formaldehvde (By-Methanal
(C) uiE (D) AT (C) Lthanal (D) Nethanol
7 |
“uHifes ufye U s a9z 2 S0. The  functional  (reactive) oroup 1n
(;"&} s C:O {B} e {_JH ' aEL‘L‘[iLL Ltti(i I‘w '
: (A) =00 (B) - OH :
OH H ' '
(O (D) | | ﬁ OH 1]
- =0 - =0 o ) (D) |
e = (=0 - (=0
ﬁ%ﬂf%%ﬂ STg / Space For Rough Work
Group-A . 11 U
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TUE-11
SECTION-II

LI

. MATIIEMATICS
100 (e S & Mo Rremr w51, % 67,200 arc invosted in € [Oﬂi{nfgu;ﬁl
? ]2{} (Iﬂ%aﬂ) g7 %F 67’200 =T .ﬁ%ﬁ Vﬂlﬁ.le) ShﬂrUS “xhiﬂh are L]}Li(}i‘l?{r’:i-: ) 1 *-v..}
=Rt ST R 1 AfE W o 129 AT (market value). I Izﬂf { llh‘{ - tlb%
(fedie) <t giyon 1 St R, A S R declared on the ﬁhmmt then we
B m—bﬁ—rﬁ : " income would be
(?) g 8.004 (B) %8032 (A) T 8.00: (B) ¥ 8.032
7.006¢4 = & T
(C) ‘ )4,. (D} < 6,720 (C) ¥ 7.064 (D) T0.720 ‘
P WHAE FF RS A aa @ 52, Ram has a saving bank account with
36 W TS = T IS 7 Fyaer Bank of Baroda. A part of the page of
ﬁtﬁﬁ% : his pass book is shown {hﬂlm‘*'f —
|| v [ Rar | | — Date |[Particulars|AmountiAmountibaiance
%ﬁﬁ WW N With- | Depo- | (%)
o A (X) ) ) | drawn sited (%)
3o | B 1.500.00 _ (<) =
1, 98 = B Lﬁt[ly 1.[B/E 1.500.00
SR 1200.00 12.700.00 |98 {
8, 98 e  § July 8, {By Cheque | 1200.00(2.700.00
s | UhS 800.00 |3500.00 98
23,98 July [By Cash 800,00 [3.500.00] .
I | F% | 1.600.00 1900.00 23, 08 b
17, 98 | August|To Cheque |1,600.00 1.900.00
I | U 600.00 [2500.00 et -
127, 08 |- August|By Cash 600.00 2.500.00
: : . T 27,98
vt fg @ ms : : -
a8 ) e Wa 98 T T The amount on which he will eam
B interest in the month of July, 98 is
(A) €3.500 (B) 1.900 (A) 500 (B) ¥ 1.900
(C)y 2,700 (D) T U T (C) €2,700 (D) None ot these

TtgT gt 5 @i 4 7 80 wfY WE B

IuT e ST T | ARk W e

a1e =S & e 6% aive 8, a9 I
WWWWWW:

(A) ¥6,811.20 (B) ¥6,820.20
(C) 'T6,822.20 (D) %6,800.20

Mohan deposited T 80 per month in a
cumulative deposit account for six
years. It the rate of interest is 6% per
annum, then the amount pziyﬂhlé to him
on maturity would be

(A) T6.811.20  (B) % 6.82020
(€) T6,822.20 (D) T 6.800.20

%= B & o1 0 / Space For Rough Work

12 Croup-A

-

T

collegedunia:

India’s largest Student Review Platform



196 3 38220 FT [I.C.F. B
(A) 196 (B) 200
(C) 296 (D) 300

30 T W A 616 wewl Al a0 R
ZHE i 32 WeRi 99w ol 40 S
[ IS R | Qe g ) e e

L

/

et ' e e g el A

iR T, e 3 vl e e
() 6 (B) 12
(&5 40 (D) 8

50,

18 e aflt Ty 12 fore ws @
< B o R o el oo 1 O v
ol 0 & o 2 | A S O w d R
§ T o e @ fem A Qe
TR T vt firedn ¢

(A) 60 Tiae (B) 30 e

(C) 36 fHae (D) 24 e
w feom wgue & e el &1 am
T UEEH AN - 3 3R 22

(A) A243x+2  (B) ¥ -3x+2

) ¥+2x-3 (D) =3 T 15 T8l

"
"

The H.C.E. of numbers 196 and 38220 IS
{gm—g’ﬁ " (B) 200
(C) 296 (D) 300

A command of 616 soldiers has to
march behind the army band containing
17 members in a parade. Band’s
members and soldiers have to march in
the columns containing equal members.
The maximum number of columns in
which they can march is

(A) 6 By 12

(Cy 10 (D) 8

Sonia takes 18 minutes and Ravi
12 minutes in completing the round of
a cireular path of a playground. if they
start running from a particular point to
a particular direction at the same time
then after how much time they will
meet each other at the starting point ?

{.réi} 60-1]1&“},“&35 {B) 30 minutes ;’I

(£ ) AGEminutes (D) 24 minutes

The addition and multiplication of zeroes
of a quadratic polynomials are — 3 and 2.
The equation of quadratic polynomial 18

,(Wﬂ rax+2 . (B) a2-3x+2
(C) ¥+ =3 (D) None of these

58. T IHAHR ¥, iRl o, ISR §8. The length of a rectangular gurde—ﬁ is |
a4 HiX 3TforeR 3 oI aﬁﬁfmﬂ 36 HIEX 4 m larger than the width and its half |
2 IW&%E‘E’@% | '_ é perimeter is 36 m. The length of garden is
(A) 20 (B) 167 (A) 20m (B) 16m
) 107 (D) 151& “{C) 10m (D) 15 m
T ﬁm ‘%%}%W / Space For Rough Work
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-

[ﬁ;f %1 H13 9TH BT :
. V2 43y =0
\_ﬁ-\'—\f;}f:{}
(A X =0TFy =)
(C) v=A2Twy=13
v=AitE y =12

60, T TUT ¥4 <} I FT 3G 9:7 3R
3T @l H IYE 4:3 & | Al 5 %
- =afe Sy wE™ T 2,000 w= o B, A
(A) < 9,000
(C) ¥27,000

(B) % 18.000
(D) T RS T8

6 fﬁié? T SR EgTIfT <l (s HH W v
\_ T 979 &I

5 |
1—1+y—2”2
6 3
1 53
(A) x=5 (B) x=3
) x=4 (D) 1:2

Fret Yl it ) gt 0 T T o

O1).

6l.

62.

oo

On  solving  the following  linear

cqualions, Wwe will get the value of

vand v
Wwfzg_m' l"kgffi}’ == {1
Ngqii' - ngg}’:: 0

(Ay v Oand y = ()
(B) v=land y =1

(07} o= \E and vy = \ﬁ
(LN s \/_; and v = \E

The ratio of income and expenditure of

Ram and Shyam are 9 ¢ 7 and 4 : 3

ru;:rumc,h If each person I$ saving
¥ 2.000 cvery month, then the monthly

ineome of Raim 18

(By ¥ 18,000

(A) T 9.000
(D) Nonc of these

(C) T 27.000

On solving the following couple of
equation, we get the value of xis

5 1

o ] Tyl 7
63
o= Il ¥
IR =25 " (B) x=3
(C) x=4" (D) x=2
f two zeroes of 224 — 31 + 6y — 2 are

\f and -\f respectively, then the

balance zeroes are

B w

(A) Fand I (B) 1 and2

]
) \E and 2 (D) -5 and 2

MW%WWH Space For Rough Work
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e ity 3,0

=2ox: 2 oy

e
JJ]I_:J_‘]
4.

II

D) T A

64 UH a1 & frenPiat 5y qhegi N GRS

63,

Thc TOOls a‘rt'

quuds*;niu

—— [_}1'; I L'!_PL ’

cguation

nmf%

Ve
(L) 3 A o— /_)i

i
(2

- and ’\/ o
3

%

(D) None of these

64. Students of a class are standing in TOW.
2ul 2 | Tie dfw o 3 forameft st e If number of students In a vow 1S
IR increased by 3 then the number of row
mf\a%ﬂ?zj]a; E::{_Eﬁ_ﬁ R i ft 4 3 13 LuQL‘L:dHLL by 1 and if number ol
am\,ﬁ‘ al a oAl faes students in row is decreased by 3 the
91 | FHan o Trnfl o) U= aumber of row is increased by 2. The
number of students in the class are
(A) 306 (B) 26 (A) 3&/ (B) 20
. - ' 'y 16 D) 40
.65, U AE 10 92/ U & ';ﬁ-'f:&g{ 30 Tl 65. A boat covered 30 km in the opposite
AT YT F TS 44 el St R direction and 44 km in the direction of
70 B g 1”“ j{iiﬁ S . stream in 10 hour, and in 13 hour 1t
) ‘if Hde A0 TshHT |1 <6 Hidget U travelled 40 km  in the opposite
55 foprft 9T & T STl MEEE]L direction and §5 km in the direction of
Prafid = g stream. The speed of boat in the
| | constant water 1s
(A) 3%514“[*&21 (B) 8 Tesdireen (A) 3 km/h
/52‘8) 3, km/h
((’_‘)' 5 tord “EET (D) W@(%}%ﬁ (C) «_, L/
(D) None of these
e <h1d h ToTU STE / Space For Rough Work -
Group-A
gcollegedumaa
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66. T U0 FAFIHR U ot ST 8 FaEehl

Iﬁ@%mﬁﬂmﬁﬁ3lﬁ.$ﬂ%im
| e wme @ Piftfa wafieTg AR
qrh frger aTaR A 9k
e & et aut Seurs 12 4. 8, 9 4
a1f et 37fires 81 | 59 HIAATHR UTeh @l
TR g0l

Fafearg =
12 6
€ IGTh
|
(A) 7HL. (B) 47

47, fe e 2 43 = 0 e
<1 Spid 3

(A) 2 T o aretas ge

(B) ¢ SR Artfaeh qoT

(C) a’!ﬁﬁﬁ@:{ﬁf% |

606.

67,

ar park is 1© be cnn?truutf:d
¢s by 3 M lrom its
4 sq. m. more than
park alrcady
is equal to the
lar park and

A rectangul
whose width 18 le
length. s ared 15

the isosceles r
ol whosc [hasc

*

angular

construct
of the rectangd

width B
The length of this

height s |2 m.
cectangular park will be
[soscele Triangle
[2m

l-{-—-v-—- Rectangle

{s’-‘m)_?mmf (B) 4m
(C) =1l'm (D) 6m
The nature of roots of quadratic

cquation w2 -4y +3=0 18
(A) Two difterent and real roots
(B) Two equal real roots
Y Non-real roots
(D) Unknown

(D) 3T A&
3 37 TR e e 3 @ R § 68. I?nw many numbers of two digits are
! ; Yoo L " e
(A) 29 (B) 30 g 3y 30 <
i (A) 29 (BY 30
(C) 31 (Dy 28 AC) 31 (D) 28
@l 21, 18, 15, o B HAEYE 818 ? 69. Which term of series 21. 18, 15, .
(A) 27 (B) 29 Is—81 7 o
,. (C) 33 (Dy 35
L. 989 1000 WWW@W% 70. The tutq] of first 1000 positive whole
[ (A) 500000 (B)y 500050 l(iii;‘:h%*{légn
5000040 (B} 500050
C) 500500 D SO0 3050(
(C) (D) 505000 ' (C)-200500 (D) 305000
e B @ (070 718 / Space For Rough Work
&
16
| Group-A
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,1‘
& ffﬂ? ABC 1, fag ) @ AR @ 71.

e 74 9§ § 700 Il "l <l I
@t 2 | 9% D 3 TR U au A
TG B9 § Tk (T G 1 I W
g BT 2 | 1 7 a1 <R e ST Ul
(A) 4375 (B) 275

() 4073 (D) 13975

\

In triangle ABC, P ia midpoint of AB

fl St QIRRE AC T gy B 3 uf and Qs mudpoint of ACIEAB = 9.0
t/ 3 = gy f«ﬂﬁ BC . M”U_ 2 ) e BC = 11 em oand AC = 11.2 ¢m.
= ~ dANC =112 R S g MNCO) e —
pEpai I e perimeter of trapezium PBCO s
'.r(I dqqi{'w{(\}mqﬂinl nTﬂ ;
Lo &
4".'3* : q T
: 1) o l‘l‘ \
R R i
T / ¢
G : 55 o "’t/ c ) 20,9 ¢n (13) 308 em
Ay 2699
H} 30. Q‘HT‘?T/ {9 {37 o (DY 264 cm
(€) 22.2%h (D) 26.4 ndt '
?"I., 30 Eﬁﬁﬁ“ﬂ]ﬁ el Uk Sredhl Tod o ;\ airl of height 80 cm 18 coing away
TH @Y S 3T o ¥ 1 e | 1;; trom the base m‘_ A 1‘}{‘:‘1:@ at spm:rj {‘!T
I we 3 VY 3 mdss A bulb s titted in pole at the
® R Hﬁ; e qﬁq d 4.0 |, &I > height of 4.0 m from the base. The size
RI 2, a4l 4 U e 39 gl & (length) of the image ot the virls will
STAT <ht L= i be after 4 seconds
i LAY 1.6 B) 1.3m
2 'LGIﬁ' (B) 1.3, {EYI 1 (1}5111 ED}) 0.90 m
(C) 1.04, (D) 0.907. c |
73. U&H Higl Tax U('gqm-f::ﬁ 2 ﬁF SURR] 73, A ladder s 1{.,atu1 allonﬂ the u;ﬂ}“ in
e § such a way that 1ts bottom s 2.5 m
Tl S & 2.5 11 ﬁa' T T away trom the wall and top end of it
THeh1 Sl oo i A 6 . i T wu rested on the window at a height of 6 m
‘f@g@Twuéam & | O e g from the ground. The length of ladder
(A) 7.04. (B)y 7.54. /L&f’m N B 75 m
I f e
(C) 6.05. (D) G:SIﬁ (C) 6.0m (D) 6.5m
74. Q. T o Fuiar Fal &d 1§ 600 A 74, A T.V. set manufacturer, manutactured

600 T.V. 1 the 3 year and 700 T.V. in
the 7" year. Assuming that the erease
in production every year is cqual and
definite. The total production in the 7
Vears was

() 4375 <7
(Cy 40735

(B) 4275
(D) 3975

Group-A
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Q@ et St 6 9. 3k 1 @ 8
et Rl % e g 12 B R @
% Fult Rl 3 e o ot gt
(A) 114, (B) 137

(C) 15, (D) 7 3 =i 7

g o fderss (2, 3) w (4, 1) 4
SdwRn

(A) +3 (B) /52

(C) jﬁ (D) gqﬁ%qﬁ_stq_gf

w3 s e (1L s), o 3) U
(-2.-11)8 9z

(A) T&E g |

(B B+ afidd

(C) wlgerg frager & o § |

(D) a9 yw S d |

U FTE T8V U 5 a2 @ e
ammoo%:wmﬁma@m%l
2 ¥ ot &) it 1200 Refaer &
I & I & | i%d‘ém?ﬁ:ﬁ‘ﬂ?

Wﬁi%aﬁaﬁqﬁs}xﬁ
(A) 300 foeft

7185,

76.

piz

78.

Two poles of height 6 mand 11 m are
erected  on the plane  ground, The
distance between the bottom part of
these poles is 12 m. The distance

between the top of these poles will be

(A) 1l'm AB) 13m
(C) 15m (D) None of these

The distance between the points of
co-ordinates (2, 3y and (4, 1) is

(A) 43 (B) /52
/(.C/)r’ E\E (D) None ot these

The points of co-ordinates (1. 5). (2. 3)
and (-2, -11) are

{(A) co-linecar
ABY ends of a triangle
(C) ends of isosceles triangle

(D) ends of right angled triangle

An aeroplane fly from an airport in the
north direction with speed of 1000 knvhr.
At the same time another aeroplane fly
from same airport in the west direction
with speed of 1200 km/hr.  After

] _
[5 hours the distance between the both

acroplane 1s

(A) 300 km

(B) 3300 fert} (B) 3300 km st )
(C) QOO@W (C) 200161 km
(D) 30061 e BT 300[61 km
WW%WW / Space For Rough Work
'8 Group-A
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tan H5©

| /It{ vt Eﬁﬁwmé 79,
| & . 3
O (D) A2
| .
80 fergail 4, - 3) 3tk s, 5) = Sed 9 80.
q‘\ 3 aﬁa“ﬂim;mﬁl@:iﬁw
/ IS Y a1t fog 3 Frrion &
WAy 3:7 (B) (7.3)
(C) (6. 1) D) ST
gl. Prist Rreds siwt % fidwies (1, -1). 8.
| (=4, 6) I (=3, - 5) § 1 S 2
(A) 24 (B) 20
; (C) 16 (D) 12
. WEH S ABC w1 Hiv B e 2 82
. Wtanﬁ=l,ﬁi?.sinx\.com\%11{m
/&
(A) 2 (B) -2
(C) 1 (D) - |
cosce 45° HTTH 8 83.
(A) 2 (B) 2
(C) 3 D) 1

an 65°

The value of 7 5o
I'he value cot 250

|

i

(B) \F\
(D) \>2

(A) A3

()
(f' -
The co-ordinates of pomt which
divides the linc  segment which

connecting points (4, —3) and (8. 3)
internally in 3 ¢ 1 ratio s

(A) 3.7) By (1.3
(C) (6. 1) (D} None of these
The arca of triangle having vertices
(1,-1), (4. 0) and (=3.-5) 18

(A) 24 (B) 2

(C) 16 (D) 12

It in right angled triangle ABC.angle B

is right angle & tan A = 1, then the
value of 2 sin A. cos A will be

(A) 23 (B) =2
O+ (D) -1

The value of cosec 453° 15

PR (B) 2

P
(C) 3 (D) |

84. sin 60°. cos 30° + sin 30° cos 6(0° Hl 94. The value of sin 60°.cos 30° + sin 30°
9 qF e cos 60° 18
1 (A) 3 (B) 1 (8) \[3 ™ (B) y/ |

1 1
(C) 5 (D) 2 () 35 (D) 2
ﬁ’mﬁ%ﬁw / Space For Rough Work
Group-A 19 &
R P e g
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J : BEd
'> | oA, e g
2 (A) seetA (B} -1

(C) cot“A ' (D) tan-A

YU HTH % P Fus 10 91, S5 vy
THT IFAT BT 3 %f‘ﬂm*ﬁﬂ'mlﬂ
T S SR e g 3R fag p @
W & BrE o3I S w;‘} |
NG hl AR R~ (/3 = 1.732)
(A) 5.32 41, (B} 6.32 7t
(C) 7.32 4. (Dy 7.52 4,

87. W19 Q ¥ U gu W vy 6 e

$ 24%?&&%{1@&%‘1%@@@25@41%
/g fr=ns
(A) 7 A (B) 12 @ f?
(C) 15 g (D) 20T

88. T gUIBN WA W T 24 Wy et o = g

@ T TIH H1 99 T 5,280 2 | 59§
4/ 1.0 ¥fd a1l 3fi, 1 T E Jard H

= BATI
(A) T1.925 (B) % 3.850
(C) T 4.025 (D) %4.125

89. fasar 4 ot 9t s 99 & Freravs
101 30° 8, BT GTG 2
(A) 46,1 9’ (B) 40,1 g2
C) - 4.19 a4 (D) 41.0 &2

S0,

“ﬁ'

- 88.

89,

m‘\,

[+ ocols, el
! = s T

(13
(1)) l:m:rl/

"o [0 om high

(A) sceA
(C) cal-A

The angle of altitude ol
heuse Trom the point I on the ground s
307 A flaz is hoisted at the Lop ol the
The angle of altitude of top ot

The length of

house.
Tag from point P s 457,
the pole of flag is = {(1/3

AT 832 m

}Q" 7.32m

A tangent of length 24 cm is drawn on
a cirele from a point Q. The distance of
point Q from centre is 23 em. The
radius ot eirele 18
{87 em

(Cy 15 cm {

By 12:¢m
Dy 20 ¢em

The exponditure of barreading ot a
circudar field s € 3,280 at the rate of
< 24 per metre. The expenditure on

ploughing of this tield at the rate of.

< 1.0 per square metre wiHl :

TJ.

(AY T 1.925
(C} T4.025 (D

%

3.85(
1

~

4_

[~}
Ay |

[I the sector of circle of radius 4 om
muade an angle of 30
the scetor s

\ 2
(A) 40.1 cm-

Q}x/-i.lu -

. then the arca of

(By 40.1 cm?
(D) 41.9 ¢m?

%= % & RIS / Space For Rough Work
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2
/U% T S R B 10 % 30 FreRia g

, | TR H, 100 3 wg Ry T
| LD AN 8 v 8 | i
STU A 31! 1 e g

i
| - _‘_\_"'_‘—H-—__

TTHT

40

4
50 SR

[
———

—

56 .

—_—

60

2
.. 4

T e

42 ]

—_——

.

R0) o
:,_.—__.._ ——

—_—

|
|
a8 L)
3
1

p—————ee

92

———

05
(A) 59.3 (B) 59.6
(C) 60.3 (D) 60.6

91. YN 7 Al 9T WS TR S F W
JTferesam ST B
(A) 7@ (B) 3.5 3
(C) 4.5 (D} 6.5

02. T 4.2 @f 9 wig % w MR WY
reeest = 6 @t 9T wes 9w % &y

W T T ST @ | e sh SdTs B

Ay 2.7 9 (B) 2.77 6
(C) 2.74 T (D) 2.8 T

00, The marks obtained out of 100
(maximum marks) by the 30 students
of class X ot a school is given n the
following table, The mean of the marks
obtained by these students 1s

1

Marks I| No. of students |
obtained o
1o |
20 | 1
|30 3
40) 4
50 3
56 2
60) 1 4 |
70 4
n !
50 1
38 2
02 3
95 ]
(AT 39.3 (B) 59.6
() 603 (D) 60.0

91. A hemisphere is fitted upon the cubical
block of side 7 cm. The maximum
diameter of the hemisphere would be

(A) Tem (B) 3.5 ¢m
(C) 4.5 cm (D) 6.5 em

A cylinder of radius 6 em is made by
melting a metal sphere of radius 4.2
cm. The height of the cylinder will be

(A) 2.7 cm (BY 2.77 cm
(C) 2.74 em (D) 2.8 cm

e S %ﬁmw / Space For Rm&grh Work
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W

2P zopeh

5

i

o
-

b

An article is haueht for T 300 and sold

TS 9] T 300 | wliewt 20% 6w w 93.
ferepeft 8 | T T fashe qovr 2
(A) T 240 (B) T252 (A)

(C) T 360 (D) w@aﬁgq—gﬁf . (C) T 360

at o loss ot 209%. Its selling price s
77240) (B) 252

(12) None ot these

94. Two articles are bought for T 2,600

caclh. One of them s sobd al a foss ol

94. <l U T 2,600 wia Y e A TS st

i ) 215wt 4% 67 b gy e o - e <OIIEE B 5
ST ?v Srafeh gl Eﬁﬁaﬁ 1 3w fosma f/u! dt];d‘ [1:]: 4?52;1&; ':'H{:ﬁj_b'l‘:w other
LA 2,6527 | gl &g 1 fasma g z::;;]c ]:» ;U](; nft\ a ‘I-’f!'”?:‘; i"’-";ﬂ’l’*—"“’”'t or loss
StterTer Sreran @y it e w2 pereent of
AYL B ®) wh6p—S (A) loss 8% (B) lass 6%
(€) M (D) R 6% (C) profit 8% (D) profit 6%

95. TH ghMHQR T 1.700 & 8§ det HI K& 95, A shopkeeper bought locks at the rate

a aTed sy &1 ¥ 2850 % 12 Fﬂﬁ' i e g of 8 locks tor T 1,700 and sold them at
- R W R 1 T 2050 % A e the rate of 12 locks for T 2.850, The
E”i_{_:’ 3@ 3G GRT fosha fopdt ) et ot number ot Tocks he should sell to earn a
HE&A gt net profit ot ¥ 2.250).
(A) 100 (By 110, (A) 100 (By 110 .
(C) 105 (D) 90 (C) 105%* (D) 90~

96. U 9c1 4 3 & 34 5 HIA] g e 96. There are 3 red and 5 black bally in a
S @ v e Brereh T 2 % o bag. Once ball is drawn from the bag.
5 2 P 2 The probability of being red is

] 5 T 5
A 2 C 2

U?@- 6O@<i#’wﬂ

=

- e &
v 22 Z’é i Group-A
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\G J’{‘\'im X

| R 800
e Eﬂ RN 5% anfifer TRafy
b | 9 Fep g 5 o

g | 299 % forg S &

'}V ﬂaaﬁ%ﬁmmmamamﬁm? |

(A) < 8820 (B) %8800
() <8810 (D) 238815

(A) 40,000

(B) 42,000
(€) 44,000 (D) 745000
V. T PR T g W 3w W i

' M(%)”ﬁ?moomlz%aﬁaﬁ
F / %ﬁwm%am%wﬁgmm

%] ! fosht w2 180 %1 92 T )
A B, T 39 o8] B F7 HQ G5
(A) %6,720 (B)

f (C) 6,000

100. Th SR W Hfgd qeu 2 900 § W 9 @
! AR 3T 20% T 10% g W

97

0.

99,

100.

A person owned T 800 from the bank
for 2 years at a rate of compound
interest 5% per annum. The amount he
would pay to bank would be

(A) T8RN (B) T 8800
(C) T 8RO (D) TBIIS

An owner of the factory estimates that
his machine Llupruui%g&; by 15% of its
value at the beginning of the year and it
depreciates by T 5355 during  the
second vear, The ornginal value (cost)
of the machine is

(A) % 40,000
(C) T 44,000

(B),T742,000
(D) T 45,000

A shopkeeper sells an article at its
marked price < 7,500 and charges
sales-tax at the rate of 12% trom the
customer. If the shopkeeper pays a

VAT ot < 180 on selling of an article, |
then the price inclusive of tax paid by q
the shopkeeper is
(A) 6,720

(C) T 06,000

(B) % 6,520
(D) T 7.000

_——'_'_'_'—F.’

The list price (marked price) of an
article is ¥ 900 and is available at two

5 PN successm discounts of 20% and 10%.
SERESE T T fersh IH?Q'EPFTT The. selling price of the article would
(A) 7630 (B) ¥730 be
@ I (A) 3 630 (B TT730 -~
C) 7648 D 4 ol
(&) ( ). FH DR T (C) ¥ 648 (D) None of these

%o B o (07 IE / Space For Rough Work
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Group-4 |
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